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[fa— ) REFaEF L, A ELkE 10 e EY]. REMAETROEEENR
FrESnRSAR () =03 +a,_x" +ta, R 2 HREAE. REE,
B
\f(longk)\=93, YEk=12,--,n+1

[£2mi)]: 4d,=loget, Bl<d,>A0Eh 1 BFEHF EE D RAKEN RS R
B ‘

n~1

f(x) =anﬁ(x—dk)+a,,_ln(x——dk)+--»+a1(x~d1)+ao, i ¥ a0’= +93.

k=1 k=1
(1) En=18%, (ag,a,)=(93,-186), (-93,186). Br & 2 f8— k% 7B A
f(x)=-186(x—d,)+93,
- f(x)=186(x~d,)+93.

@) % n=28, (a,a,q)= (93,0,-93), (93,-186,93) , (93,-186,186) , (~93,0,93),
(—93,186,-93), (~93,186,-186). B 6 A=K FRAX |
1) =93(x—d,)(x—d;)-93,
1) =-93(x~d,)(x~d,)+93,
£(x)=93(x—d,)(x~d,)-186(x—d,) +93,
f(x)=-93(x—d,)(x~d,)+186(x~d}) =93,
f(x)=186(x —d,)(x—d,)-186(x~d,) +93.
F(x)=~186(x—d,)(x~d;) +186(x—d)) =93

G % n=3 B, (a,ad4.a)= (93,0031, (930,-9362) . (93,0,-93,93) ,
(93, -186,93,-31) , (93,-186,186,-93) , (93,-186,186,~-124) , (=93,0,0,31) ,
(=93,0,93,-62) , (-93,0,93,-93) , (-93,186,-93,31) , (-93186,-18693)
(=93,186,-186,124). B 12 B =H 5 AKX

£(x) =31 —d,)(x—dy)(x—ds) + 93,
f(x)=62(x-d1)(x-d2)(x~d3)—93(x—d1)(x-d2)+93,

F(x) = 93(x—d,)x —d)(x — dy) =93(x —d))(x = ;) 93,

£(x) = 31 —d, x - dy)(x — dy) + 93(x =&, )(x = d,) ~186(x = ) + 93,
() =~93(x—d,)(x - d)(x ~d;) +186(x = &, )(x = ;) ~186(x = &) + 93,
f(x)=——124(x—d1)(x~d2)(x——d3)+186(x-d1)(x-—d2)-186(x—d1)+93,
f(x)=31(x—d)(x~d, ) x—d;)-93,

>



f(x)=—-62(x~d Yx—-d,)(x— a’)+93(x d)x-d,)-93,
F(x)=-93(x—-d))(x-d,)(x=d,)+93(x—d,)(x~ a’z) 93,
F(x)=31(x—d,)x—d,)x—d,)-93(x—d,)(x - d,) +186(x - d,) - 93,
F(x)=93(x—d,)x—d,)(x—d,)-186(x —d,)(x — d,) +186(x —d,) - 93,
F(x)=124(x—d)(x—d,)(x—d,)—-186(x—d,)(x - d,) +186(x —d,) - 93.

4% n=4 & , (a,q,a,4a,a,)= (93,0,0,-3%31) , (93,-186,186,-93,31)
(93,-186,186,-124,62) (-93,0,0,31,-31) ,  (-93,186,-186,93,-31) ,
(—93,186,-186,124,-62), BFF 6 B =R % EK
S(x)=31(x~d)x—d,}x-d, )(X——d Y=-3Ux—dYx-d,)(x—d,)+93,
JFx)=31(x-d))(x—d,x-d,)(x—d,)-93(x—d )x—d,)(x—d,) +186(x ~d, )(x~ a’)
-186(x —d,)+ 93,

fx)=62(x-d)x—-d, ) (x~d,(x~d,)- 124(x —dYx—d,)(x-d,)+186(x— a')(x d,)
~186(x—d,)+93,

F(0) =31~ ) (x— d;)x—d, Jr =4, ) + 31—, )(x = &, )(x ~ ) - 93,

'f(x)———31(x —d)(x—d,)(x—dy)(x—d,)+93(x—d,)(x— d)(x d,)— 186(x d)Y(x—d,)
+186(x —d,)-93,

S(x)=-62(x—d )x-d,)(x—d,)x—d,)+124(x— d)(x d,)(x— d) 186(x d)x-d,)
-F’r86(“f‘d‘}—93ﬁ

(5) REBRMERAEGZS, BF m"%ﬁﬁ*{*é’] nREENf(x). BEFE, Bl E ot 3

a, +a, = f(d,) =%93; ¢
2a,+2a +a,= f(d,)=%93; 2)
6a,+6a, +3a,+a, = f(d,) =193; (3)
24a,+24a,+12a, +4a, +a, = f(d;)=£93; 4)
nla +—{l-!~a‘ l-!~ila et a+a,=f(d,,)=193. (n)
o2t (n-— D! m

B (WX -C'x(n-1) X +C) x(n=2) X —-+(-)""Cx (DX 1T#

nla,+(-)™a, =(#12 G £ Cy £ £Cl) 93,

Bl gk, _
g, = 1+ 2Cr£---2C £]) 93
n!
¥, & n=58,
+1+£5+10£10£5%1
a; = -31.
40

DY ¥ Oé’wﬂﬁ 3“% TRAE



Bra, =0, KA. En=68,
+1£6+15+20£15261]
ag = 31,
A 240
B Aa -8, $136£15£2021526x12785% 240 sAsE, ERE-THRR

+1+6+15+£2021526£1=0;

31.
1680

Bha £ g, £1£7£21355352212 721w A R 1680 e dt, Kok THA
£1£7£21£35£354212741=0;

wa,=0, R4 En28E,

A+Cr+Cy+-+Cry+13-93 2793
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B&a 2% %a,=0, F&.
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(Mm% —EABCT, BELBH—ESRELCHTFLYREL, ERAD BRE C
- EBHFAIKREL, ERAL sm D & AABC #$h48, B E & ABC
e B ABCR R B A AR « CA LW HF AR P2 O &S i
DE@#®P - Q. |

s DEMAB AR X BCARAY, MIAMBCHRC. RIVEREAR ARL TS,
ce QY L. A LBDC=LCEB=90°, FFA D~ Ex C-Bmm#E. &, TH#
/XDI = ZEDC = (1/2)£ABC = ZXBI .

G e, B[ X D mE£E. B, LIXB=ZLIDB=90% Bp IX L AB, 7R8F AABC 897340

B ABn X%, AmSPREXES. A7 8, & D-E~C-Bm£E, T4
VEI =180°— ZDEB =180°— ZDCB =180°—(1/2) £ACB =180° - L¥CI.

LA C Y EmBEE. Bk, LIVC=LIEC=950 8p 1Y L AC 7B AMBC #h R B
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[Mm=) EASEHALAAAAAALGRETHRCHEELLEA 80 BESR. AEMAE
TG LEEn, BARMTHELPnEBRESHR, B E—EAMA4 &

PEER S E — B R &8 B k.

(425 2k 6 BEREEH= AR MAL, MAA, MAL, MAA,
MAA AAA. BE—BZEHEREREF —BEEHER, £n26. 778, F
n>7, BB RE T Ll EIET P, SE—AZERERELEGBR, #Hnb,
SFEBEn=6 X TR &

SP=AA1A2AP+2HAAP+1AP+2A17+3? VY p=12, -, 6
214 S,S,, -, S, ELETHRAK BRE, FRE—AMAL, EFISi<j<kss.
() Fi=18(k23), AIS, A ALALR—WELEA

i) Fiz2B(j23), RIS, , RALA 4 - EEER.
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